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General Instructions:

i. There are 29questions in the question paper. All questions are compulsory.

ii. Question no. 1 to 14are Objective Type Questions of 1 mark each.

iii. Question no. 15 to 19 arevery short answer type questions, carrying 2 marks each.
iv. Question no. 20 to 22 are short answer type questions, carrying 3 marks each.

V. Question no. 23 to 25 are long answer type questions, carrying 4marks each.

Vi. Question no. 26 to 28 are source based questions, carrying 4 marks each.

vii. Question no. 29 is Map based question, carrying 3 marks.

Q Questions M

I- | GSTUT & ollaT Hiell shal & HINA T? 1
(37) IR () ST (&) Felicn
(&) IPMTAEdTT

Where did the Harappan people get gold from?
(a) Gujarat (b) Iran (c) Karnataka (d) Afghanistan

2. | g8 YTdlel d¢ hled HT & ? 1
(31) TG () 3rYddg (&) Tde
(&) ®IdT

Which is the oldest Veda?

(a) Samaveda (b) Atharvaveda (c) Yajurveda (d) Rigveda

3. | dTool ITURTSY ohl ISTHTAT shegl AT ? 1
(37) TTeferge CENEGH (&) TTTE
(q) HITET

Where was the capital of Vajji gana?
(a) Pataliputra (b) Vaishali (c) Rajgriha (d) Magadha




4. | g e HH TelehcdH g epled AT &7
(37) TP (&) g (@) qu (@)
Vic}hich is the nearest planet to the Sun?
(a)Venus ( b)Earth (c)Mercury ( d)Jupiter
[T Tl Ta.RIT ohT SGTRTCT Shacll &7
(37) cfaror (F) 3 (&)qd @)
g
The Pole Star indicate the direction to the --------------- .
(a)South (b)North (c)East (d)West
6. | TIToT ATFITAL TWT hl HIol FIT &7
(31) 90° (<) o° (H)60° (<) 180°
What is value of Prime Meridian?
(2)90° (b)0° (c)60° (d)180°
7 | CRITAT Y3 T ool HEAT T 72
(37) 90 (1)180 () 360
(&)50
What is the total number of longitudes?
(2)90 (b)180 (c)360 (d)50
3. [ TTG 2020 Teh ATHAY g ol JaTell TadY aplol AT G191 ?
(37)2021 (§)2022 (F)2023
(§)2024
I£ 2020 is a leap year then which will be the next leap year?
(2)2021 (b)2022 (¢)2023 (d)2024
9. | 3T ATy ohl HIH oTFdT TGl hld AT § ?
(37) 22 fedsR ) 21 & (H)23 faFsR
(@) 21 51
Which is the longest day in the Northern Hemisphere?
(a) 22 December (b) 21 March (c) 23 September (d) 21 June
10 | AL ohT ITSCITToT Teh ol SATAT ?
(3T STATETNTT A5e (&) Tlegald ST (&) IToig, IaTG,
@)dfhHA Tog

Who composed national anthem of India?
(a) Jawaharlal Nehru (b)Rabindranath Tagore (c)Rajendra Prasd (d) Bankim Chandra

11

clsTohdT AIdS gidl o |

g Ay AR AT El

3og Wl SATT 98d 93¢ &.

T IR §T A HHAR &

3WITFd GTFddT H TSTHAT o S H T SATIT IAT §2
(37) TSfRaT &1 TIHTT (F) orsfaar & IR & wfeardr
3R qatarE

(HYEHATST H oTsfehal & s7faen (&) TSTHRIAT T FHRT

Girls are emotional.
They are soft spoken and gentle.




They love cooking.
They are physically weak
What is shown in above lines about Girls?

(a) Nature of girls (b)Stereotypes and Prejudice about girls
(c) Role of girls in the society (d)Weakness of girls
121 500 %.H eI ohl 1T AlC STRT T Tohd HIhN hl hIH &7
(37) TAATERHR (¥) TTTIFHR
(H) TSI AR @) TSI AR T
Introduction of a new 500 Rs. note is a work of which government?
(a)Local Government (b)State Government
(c)National Government (d)National and state both level of government
13 | Ycdeh dTS ¢RI el 3TV FTATATE &hT gl SIldl

gl
(37)TeITeT (§)aTs He &g (T)TTAHAT @)
IELIRED

Each Ward elect a representative who is known as the----------------- .
(a)Pradhan (b)Ward Member (c)Prime Minister (d) MLA

14

A-ITH AT 3T 3R ATTIAT &l AT Hlcl 6 |

B- ITH FUTIC o HTEIT hl EIIL/TTeT gl STl & |
3»q{a’rd|cke4 Fcﬂ:f?rtf%* TR 3 gfeu|

(T) T 3R S el ST (@) T 3R & gt
m?r%*
@) TaErg IR A Tl & EnHragergiRe
TAT &

A-Gram Panchayats construct roads and drains.
B- Gram Panchayat’s head is called Sarpanch/Pradhan.
Two sentences are given above, find the correct answer.

(a)A&B both are correct (b) A&B both are incorrect

(c) A is correct and B is incorrect (d) B is correct and A is incorrect
15[ Weh 3Ig Ueh dR 4 1ohd YhR 1Hool & 7

How does a planet differ from a star?
16

gSoaaTTaaT & ToTC YU 3R 918T a1 Hgeaqur a7

Why were metals and wheel important for Harappans?

17

TRICTeRg TF JTUSTTT 3 1S & 7T 37eR el

Write two major difference between Manuscripts and Inscriptions.

18

THR T U9 TAR & & HIY &T 3R ol

Write any two differences between Sameer One and Sameer Two.

19

ITH AT TG ITH AT d H AT Tl dl|

Write difference between Gram Sabha and Gram Panchayat.

20

Halolodda] oh ST Tehell ohl TAATUT T Shidlid d7?
Why did Rajas of Mahajanpadas build forts?




21

JZaT o1 3G U6 &1 el ol 87

Why The Earth is called a Unique Planet?

22

HATAT oh JFdcd H AR ol JIaUTd FAT chadl & ? 3T9h! Jdg FAT
TITaT g b Tt SI9T & AT T S8 872

What does the constitution say with regard to equality? Why do you think it is important for all
people to be equal?

23

URIEHD HlAd of 19T bl AT Thd b 1T ?

What were the uses of fire for the earliest people?

24

EUleT Ud YRHHUT shl YRATY h|

Define Rotation and Revolution.

25

TIPR gHR SlTdel bl TohH JhIX THIAT il & ? s IR FhR
IBIELY

How does government affect our lives? Write any four types

26

QU 91T AT ol Ug X Il b 37 G |

HEH S-JUIT AT IRAR 7 Tk REAT 811 $& ARAYT 190 Y
3t TERTC, e, Feriy 3R Rt vfrars smord SRy mRaE 3R
av—éaﬂthwaqwé@m %I, T8, Ieh, SdTerdY 3R Tafaer st
gRar & gafa & ﬁwqﬁaﬂmm%a@ﬁ?jddi ATET Y
S AT 2UsC, |

mraé’ltrﬁruqcrd 3T AT (AT feT A9 YRORT & Gafad g1
3STeY0T & faIT, wﬁﬁmwmmﬁ—ﬁraﬁﬁmﬁ
g; dfdel, def, Feel 3R HeraTaH gias gRaR ¥ e & 3k
Wﬁmwé:w%wﬁﬁaﬁrmﬁaﬁrwm
Hfee)-ufRTS aRar @ gefa &,

26.1-HEhd fohg AW IRGR A TAT8? (1)

26.2- afiter 3R JefeT e #TeT afkaR & Fefad £2 (1)

26.3- IRIFT QI F el TheT HTIT IRGARY T JOTT £2 (2

Read The source and answer following questions

Sanskrit is a part of family of languages known as Indo-European. Some Indian languages such as
Assamese, Gujarati, Hindi, Kashmiri and Sindhi; Asian languages such as Persian and many
European languages such as English, French, German, Greek, Italian and Spanish belong to this
family. They are called a family because they originally had words in common.

Other languages used in the subcontinent belong to different families. For instance, those used in
the north-east belong to the Tibeto-Burman family; Tamil, Telugu, Kannada and Malayalam belong
to the Dravidian family; and the languages spoken in Jharkhand and parts of central

India belong to the Austro-Asiatic family..

26.1- Which language family does Sanskrit belong to? (1)

26.2- Which language family do Tamil and Telugu belong to? (1)

26.3- Which language families are described in the above source? 2

27

TeT 31T AT ol UG 31K YRl & 3R G |

R PeATaT & qd 82 30 I # [&YUd & dUT Tg1 1 FAY AT 4 5

HeT 30 THeT 319) & [SHToIT dlecel & S19 SIUeX & 2 Iof gl de $IRd
sfrenwa:m?raamgr@a%ﬁasra%n—cmtr faEar 3178 gl & Tordeh




10T dal UX Ush 4 3Tedeh Hlelch THY YU d1U g [3GI60] oh TalT
& H 11ATAS AT |

27.1-3TRd hT ATeTeh ATEATL IWT hieT AT E?

27.2- &F o fohde AR THAT &F 3TATT 727

273579 AR & Td & 9 Iof g1 Al olgeT H FIT Y §IIN?

Read The source and answer following questions

India located east of Greenwich at 82°30E is 5 hours and 30 minutes ahead of GMT. So, it will be
7:30 pm in India when it is 2.00pm noon in London. Some countries have great longitudinal extent
and so they have adopted more than one standard time, for example, In Russia, there are eleven
standard times.

27.1-Which is considered the Indian Standard meridian (1)

27.2- How many standard time zones have been adopted by Russia? (1)

27.3-What will be the time in London when it is 6 pm in India? (2)

28

TET 91Q et T G 37K U2 & e} & |

oIeaTd ST 3 AN & qdf 7eT H ygrst H veh IAEdT 81 g
Wwﬁa&a%ﬂ%sﬁmﬁﬁwaﬂaﬁ%mﬁﬁ%m
% ATl & ITAHTT THT I F &1 BT o 3Y 819 H 9gd oA U3 371
et 1| U1 & qIo7 & ForT T I 5 FEIA 3 (et ATl a5 W
fAeR @ &1 IgT & oiter 13 3R 9o areral § 31N 33 &1 1 a3 faQw
& TR I IHT Fd T 3T HIal & | TG FoT JARHAT g 3R
q%mmenaaﬁraﬁﬂaagama%lmé:mmmam
T 3T SHCST Y § 3N 38 HIHR & AT T FaIT & | TRt
el HEICT: HIHR A Foll STl B

28.1-cIegId &1 YRIEdleT &2t &gl SiTar 87 (2)
28.2-9HIAT 3T &7 HI et T STAGR 82 (1)

28.3-c1aTd o o9l & Tt Gl & UTedl &l AT FAT g2 (1)

Read The source and answer following questions.

Ladakh is a desert in the mountains in the eastern part of Jammu and Kashmir. Very little
agriculture is possible here since this region does not receive any rain and is covered in snow for a
large part of the year. There are very few trees that can grow in the region. For drinking water,
people depend on the melting snow during the summer months. People here keep sheep and the
sheep in this region are special because they produce pashmina wool. This wool is prized and
pashmina shawls cost a lot of money. The people in Ladakh carefully collect the wool of the sheep
and sell this to traders from Kashmir. Pashmina shawls are chiefly woven in Kashmir..

28.1-Why is Ladakh called a desert? (2)

28.2-Which animals are source of pashmina wool? (D)

28.3- What is the source of drinking water for the people of Ladakh? (1)

29

W$Q‘@TWWWWFWWW@HW—
(37) SATHENG  372qaT HrAdcer

() SATdRT 37aT ool

GEEECIEIR ARG TS

Locate following places on the given outline map of India-
a) Inamgaon or Bhimbetka
b) Dholavira or Lothal
c) Draw tropic of Cancer on your map.







